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1,200
960
120
120

5,000

A500
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AT HEIED
B OISHLE =X B
&elr 2s0ts X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 56,575
01 Al EE A S (2 RDEEMA) 80,821 86,860 26,039
OIS /&0t dEotd NE= 80,821
s 24,246
Al 56,575
2SEI0ts UE=E X 120,000 72,000 48,000
= 96,000
=S 7,200
Al 16,800
301 EtE NS 120,000 72,000 48,000
= 96,000
= 7,200
Al 16,800
01 Al EE A S (2 RNEXMA) 120,000 72,000 48,000
O23&Ex0ts NE+E 120,000
= 96,000
= 7,200
Al 16,800
JeotSIHE X 84,824 62,174 22,650
Il 59,377
T 13,533
Al 11,914
301 EtE N = 84,824 62,174 22,650
) 59,377
< 13,533
Al 11,914
01 A2 HSFS(RDNEERTHE) 84,824 62,174 22,650
Ogeols ds+¢ A& 67,200
Jl 47,040
< 10,080
Al 10,080
OYHOtS PLAFELS 7,524
Jl 5,267
== 1,128
Al 1,129
OgatIsSx# 5,400
Il 3,780
== 1,620
Og=el2t 2T A 700
Jl 490
= 105
Al 105
Og=ot=s 4,000




2A: HAIE
HH: OlSHAE =X B
tel: 250ts K& (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 2,800
T 600
Al 600
HdEZ0lsE 3| 12,000 0 12,000
= 8,400
T 1,200
Al 2,400
301 LEBNF 12,000 0 12,000
= 8,400
& 1,200
Al 2,400
01 AISIBE X 2GS (2 RETME) 12,000 0 12,000
O&Z0t=sE23H| 12,000
= 8,400
& 1,200
Al 2,400
OtssAIAIE XA 278,942 694,235 A415,293
= A,872
& 74,683
Al 109,387
Siloiots&E XA 237,182 229,554 7,628
= A,872
= 71,155
Al 71,155
307 212+01 A 237,182 229,554 7,628
= A,872
& 71,155
Al 71,155
10 AIEISXAIEHE2ZHIEX 237,182 229,554 7,628
OstiiulsiotsdH 29 X2 237,182
= A,872
T 71,155
Al 71,155
SIHIIoHOts & E SALA HIME XA 11,760 12,120 A360
= 3,528
Al 8,232
301 YPBENZ 11,760 12,120 A360
& 3,528
Al 8,232
01 A BE X2 (2 RNEETA) 11,760 12,120 A360
OsiIlootse e SALA S82Y 9,360
& 2,808
Al 6,552




SN OIS

Mo OSHAE =1 EX
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OstLloiOtsEH SALA EE Y 2,400
= 720
Al 1,680
Otssit R2us 30,000 30,000 0
307 @20l & 30,000 30,000 0
1 AMISXAIEEX 30,000 0 30,000
OOtsstth s st £2 st 30,000
Ots && XI& 5,213,116 5,307,279 AHA,163
= 2,496,981
) 202,500
= 1,371,067
Al 1,142,568
orss4 X 1,646,000 1,434,930 211,070
Jl 202,500
[ 836,000
Al 607,500
301 LELEN S 1,646,000 1,434,930 211,070
Il 202,500
s 836,000
Al 607,500
01 Al 2E AL S(FREXME) 1,646,000 1,434,930 211,070
ogsts otssa X2 810,000
Jl 202,500
Al 607,500
oshls otsa4a Nd 836,000
= 836,000
Ols=¢ X= 3,567,116 3,872,349 A305,233
= 2,496,981
== 535,067
Al 535,068
301 22N = 3,567,116 3,871,900 A304,784
= 2,496,981
= 535,067
Al 535,068
01 Al EE A S (FRNEXA) 3,567,116 3,871,900 A304,784
O0ts+¢ X=s 3,567,116
= 2,496,981
= 535,067
Al 535,068
Ols=X AL 2EXIE 507,171 0 507,171
= 231,043
= 92,417
Al 183,711




AT HEIED
B OSHLE =X 5
s OFSSXnAL 2E8XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ots= X WAL IHA 45,085 45,085
101 @124H| 43,417 43,417
03 SR (RINHA) 222+ 13,417 13,417
OXISARISXIAH1E) 13,417
SEA0= 1,335,200 %23 2,671
J2+d 1,112, 7103 %22 2,226
- d2FEoktE 60,0008 * 122 720
- el S| 40,000& x 122 480
S ARG
19,3832 x 1+ 1BAI 2t 123 3,489
- ZAHG A 140,000& * 122 1,680
- ARE 50,000& x122 600
- G2 A 103,376 * 154 1,551
U IIRINZZENSES 30,000 30,000
OOts=EXNUA SX=&
100,000 x25EH * 12& 30,000
201 et 3| 1,000 1,000
01 AtR2tc|bI 1,000 1,000
O0ts=XI WAL AFEF=EH| 1,000
303 Zaf= 668 668
02 8taoi= 668 668
OBRH(XNAABSTAHEUSAHZ 668
OlsSSXILAL A (EX) 462,086 462,086
= 231,043
= 92,417
Al 138,626
101 @124H| 460,086 460,086
= 230,043
== 92,017
Al 138,026
03 SRA(RIH L) 222+ 33,885 33,885
OSSR (RIIH <) 1Al 26,705
= 13,352
=S 5,341
Al 8,012
OZRA(RINAH)22X B8 BEE S 7,180
= 3,590
=S 1,436
Al 2,14
M ORNZZ2NSE S 426,201 426,201
OOFS=XIWAL 14| 426,201
= 213,101
=S 85,240
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SN OIEIIED
FH: otsEad =X 88
=elr Ol sSXLAF 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 127,860
202 04| 2,000 0 2,000
= 1,000
= 400
Al 600
01 2L AL 2,000 0 2,000
OEF0Hl & W=8I 2,000
= 1,000
= 400
Al 600
AS0tsHE X2 3,768,417 3,207,381 561,036
= 28,320
= 961,633
== 756,912
Al 2,021,552
AgotsdE 28 A& 382,760 310,930 71,830
201 2= 1,500 1,500 0
01 At22telt] 1,500 1,500 0
OXSotSHE g2 =& 1,500
202 04l 1,200 1,200
01 =LHA LI 1,200 1,200
OXGotsHe XN=8d 2l 1,200
301 EetE2 N = 332,710 261,880 70,830
03 A 2 H A0S (XL THH) 332,710 0 332,710
OXISH0tsHE SAHA SX+&
130,000 x48E « 12 74,880
OXISOtSHIE SAL #I25+E 34,310
OXSotsHE SAE20 N 163,520
OXIS0tsHE HIotxte el X 60,000
307 @120l & 47,350 46,350 1,000
1 AMISXAIEEX 47,350 46,350 1,000
OXlgotsHt 2ME X2
30,0002 %537 & *13] 16,110
OXE0otSHE! Wi w-Hl XI&
20,0002 %537 13 10,740
OXNSotSHE ¢t X3
500, 0002 239 %13 11,500
OXSotsHE SgM=Uz X3 6,000
OXY0tsHH MsZES X 3,000
XSotsHE 22 X|(2X) 360,206 1,606,200 1,255,994
= 175,103
== 70,041
Al 105,062




AT HEIED
B OISHLE =X B
el XFotsdEe X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 360,206 1,606,200 1,255,994
= 175,103
== 70,041
Al 105,062
10 Al2ISTIAIEEE 22X 360,206 1,606,200 A1,255,994
OXIZ0otsHIE! Jl=22ddl XI& 342,756
= 171,378
=S 68,551
Al 102,827
OXIg0tsHE Fot2dsl A& 7,450
= 3,725
=S 1,490
Al 2,235
XSotsHE eld] K& (EX) 1,573,060 0 1,573,060
= 786,530
=S 314,612
Al 471,918
307 @12t01 & 1,573,060 0 1,573,060
[ 786,530
= 314,612
Al 471,918
10 Al SXAIEEHE 22X 1,573,060 0 1,573,060
OXlSotsHIE Al K& 1,573,060
[ 786,530
= 314,612
Al 471,918
AEotsHE 238 =t 13,800 13,800 0
=S 4,140
Al 9,660
307 @I2t01 & 13,800 13,800 0
== 4,140
Al 9,660
10 Al2ISTIAIEEE 22X 13,800 13,800 0
OXISiotSHE 28H =& 13,800
< 4,140
Al 9,660
KS0tSHE lAd] =K 81,624 67,391 14,233
= 24,493
Al 57,131
307 gl2to| & 81,624 67,391 14,233
=S 24,493
Al 57,131
10 Al SXAEEE 22X 81,624 67,391 14,233
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2A:

M Ols3Ead 5 S8
el NS0tsdlE K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIS0tSHIE el2d] =IOt 81,624
= 24,493
Al 57,131
Sd8 Ngotsay =t X3 26,640 20,460 6,180
= 13,320
= 5,328
Al 7,992
307 elztol & 26,640 20,460 6,180
= 13,320
< 5,328
Al 7,992
10 Al SXAEEHE2EHI 22X 26,640 20,460 6,180
OS=+==8d X0tsdE =IOt 7,440
= 3,720
== 1,488
Al 2,232
OER2Y XI0tsHE = 19,200
= 9,600
== 3,840
Al 5,760
NS 0otsdE Z2088H| =t X 192,327 160,620 31,707
= 57,698
Al 134,629
307 elzto| & 192,327 160,620 31,707
= 57,698
Al 134,629
10 Al SXAEEHE 22X 192,327 160,620 31,707
OXS0tsHH 2208 FIHKI# 192,327
=S 57,698
Al 134,629
NE0tsdE otssS4a K& 1,020,000 892,500 127,500
= 255,000
Al 765,000
301 EtE NS 1,020,000 892,500 127,500
= 255,000
Al 765,000
01 Al EE A ZS(2DEXMR) 1,020,000 892,500 127,500
OXEotsHE Ots24 XI& 1,020,000
= 255,000
Al 765,000
KSotsHE SAHA S8E 79,200 76,680 2,520
< 15,840
Al 63,360
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AT HEIED
B OISHLE =X B
el XFotsdEe X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 79,200 76,680 2,520
= 15,840
Al 63,360
01 Al EE A2 (2RNEXMR) 79,200 76,680 2,520
OXNS0tSHE SAINSE 79,200
= 15,840
Al 63,360
KSO0otSHE SAHAL BE 18,800 18,800 0
< 3,760
Al 15,040
301 2PEN=S 18,800 18,800 0
& 3,760
Al 15,040
01 AR 2EHSFS(RRNEXRTHE) 18,800 18,800 0
OXNS0tSHE SAINEE S 18,800
= 3,760
Al 15,040
KSOotsHIE SHZIHE AL 30,000 40,000 10,000
= 15,000
= 6,000
Al 9,000
402 2IZtA=01d 30,000 40,000 10,000
= 15,000
& 6,000
Al 9,000
02 QI X2 AL EE(0IHTHE) 30,000 40,000 10,000
OXSotsHE e X3 30,000
= 15,000
[ 6,000
Al 9,000
Fad 235 N 1,402,465 1,287,182 115,283
= 43,886
Jl 205,030
= 77,521
Al 1,076,028
FAUEAE JISES 10,000 0 10,000
401 Al HIZ S OHbI 10,000 10,000
01 AlZ2H| 10,000 10,000
OFLEES JIsE 10,000
idsga 2Y 536,901 501,000 35,901
307 212+01& 536,901 501,000 35,901
05 2ItRIE = 536,901 501,000 35,901
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SN 01EIIED
M. OrsdEAE 5 B8
el Had a5 X3 (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 12,204
Al 12,204
FaE EAd 299Rs 22 XA 2,000 2,000 0
J| 1,000
Al 1,000
307 212+01™ 2,000 2,000 0
| 1,000
Al 1,000
05 It g 2,000 2,000 0
OFALEUTHEALE 2R3 29 2,000
| 1,000
Al 1,000
HAYE YURF0IHHI0 2 356,444 364,564 A8,120
| 178,222
T 53,467
Al 124,755
307 QIZ2t01 A 356,444 364,564 A8,120
| 178,222
T 53,467
Al 124,755
02 QIZHAAAIHE X 356,444 332,464 23,980
OFAEYUZ0otH 0l 29 356,444
- ZFAdsER 178,222
| 89,11
T 26,734
Al 62,377
HAE25E 178,222
| 89,11
T 26,733
Al 62,378
HAE SIS 0PHH0I SAAR HRHME 33,882 0 33,882
307 QIZ2t01 A 33,882 33,882
05 QIZtRES 33,882 33,882
OF2E3HZ SALL HRIHA 16,461
OFALEZ3E SALL MR 17,421
AW S0tel X 12,500 12,500 0
= 5,000
& 2,500
Al 5,000
307 212+01 A 12,500 12,500 0
= 5,000
= 2,500
Al 5,000
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28,812
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28,812

25,956

MEE
Ofl &k2h

12,500

2,800

2,800

2,800

48,960

48,960

48,960

20,000

20,000

20,000

493,710

Ofl &F2H

12,500
12,500
5,000
2,500
5,000
2,800

i

iy

Al

1,400
1,400
2,800

J|

Al

1,400
1,400
2,800
2,800

Il

Al

1,400
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Al
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38,886

W

15,554
23,332
77,772

38,886

Al

fir

H

15,554
23,332

77,772

Al

fir
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15,554
23,332
20,000

Al
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14,000
20,000
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Al
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21,293

346,867

H
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Il
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il
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2A:

Bl

B OlSHAE =X Z&

o2l ZAaE A2lEM X3 (Cre|: ®M2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
FABUME=EREE 23 180,000 180,000 0

307 QI2H0| A 180,000 180,000 0
05 QIZtRIES 180,000 175,000 5,000
OFELEAG2XEEH 22| 180,000
o124l 160,000
2| 20,000
HAFHAESEXEE A XA 20,000 18,000 2,000
= 20,000
307 gI2Hol M 20,000 18,000 2,000
= 20,000
05 QIZtRES 20,000 18,000 2,000
OFAHMG=RIME AIEHI(EX) 20,000
& 20,000
FadE SUA IO 29 61,648 72,768 211,120
| 30,824
Al 30,824
307 QI2H0| A 61,648 72,768 211,120
| 30,824
Al 30,824
05 QIZtRIEIS 61,648 72,768 A11,120
OFaxd SEHL 228 23 61,648
| 30,824
Al 30,824
AU SBA M R 25,141 0 25,141
307 2I2+01™ 25,141 25,141
05 2I2tRES 25,141 25,141
OFAE SEH MM X2 25,141
FAadE orMa 29 100, 102 105,275 25,173
| 50,051
Al 50,051
307 QI2Hol M 100, 102 105,275 A5, 173
| 50,051
Al 50,051
05 QI2tREr S 100,102 105,275 A5 173
OFLEHIMA(KIHAIS HAHS S X2
H) 29 100, 102
| 50,051
Al 50,051
HAENMY MRS K& 11,958 0 11,958
307 QI2H0| A 11,958 11,958
05 QIZtRIEIS 11,958 11,958
OFEAHEOHMA MRS K& 11,958
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Ofl &F2H

9,600
4,800
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24,000

fir

W
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9,600
4,800
9,600
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Al

9,600
4,800
9,600
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fir

A

Al

9,600
4,800
9,600
34,000

fir

H

Al
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fir

Al
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1,500
3,000
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fir
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AT HEIED
M 298 =a
el EFAlE 28XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8,164,172
Al 6,452,225
SAE 28X 24,599,845 28,349,008 A3,749,163
= 9,984,448
== 8,163,872
Al 6,451,525
OElold 23 & SAHL X 865,900 912,700 A\46,800
201 =3 3,500 3,500 0
01 At2t2lt] 3,500 3,500 0
ORSHUIAAG EHH4Y
70,0002 x102H+53] 3,500
202 04t 3,000 3,000
01 =LHOHI 3,000 3,000
ONgold XI=dd 2l 3,000
301 EetE NS 812,400 859,200 246,800
03 ARSI 2 E A2 (XL THH) 812,400 0 812,400
OO 2tA] XI& Ar
5002 x202+700 * 122 84,000
OOfRI01F 2l X2
5003202 +2, 1002+ 12 252,000
OAlZSE Oi2lold =28l X2
100,000 3401 A% 123 40,800
O0glold Ex=<0] 2128| X
200,000 *200 2+ 12 48,000
ONE0IE HAZR0| 2I4H] X
300,000 #4600 A+ 12002 165,600
OSSR Hoi4g
100,000& x 125120 150,000
OO0Il0l& OMIEH 28Hl X1
100,000 *60IH EH= 123 72,000
307 lztol & 47,000 47,000
11 AMEISXAEEES 43,000 43,000
O0el0ld BEsuAd 3s 20,000
O0el0ld e sHE 282 13,000
Oo0lglold EsuAE stilsita 10,000
12 QI2FQIRIE = H| 4,000 4,000 0
OEsUAE Eu= 4,000
2=AE SXgy 422,608 374,600 48,008
= 121,603
Al 301,005
301 EtE N = 369,018 311,000 58,018
= 110,705
Al 258,313
01 Al EE A S (2 RDEEA) 369,018 311,000 58,018
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2A:
PSR
ool

SA - B S9I(B1) - KIRA - ol b e HlmS2
OE=FWAA XML 369,018
& 110,705
Al 258,313
307 QI2Hol ™ 53,590 63,600 210,010
= 10,898
Al 42,692
11 AMSIEXAEEX 53,590 63,600 210,010
OF RS Helold 29| 1,800
& 540
Al 1,260
Oogloly ety X 51,790
& 10,358
Al 41,432
SFNAA IAH & 2GR 5,027,536 6,946,800 21,919,264
= 2,513,768
& 1,256,884
Al 1,256,884
307 212+01 ™ 5,027,536 6,946,800 A1,919,264
= 2,513,768
= 1,256,884
Al 1,256,884
11 AR SXAMEER 5,027,536 6,946,800 1,919,264
OEsuHA o1Ad| XA 5,027,536
= 2,513,768
= 1,256,884
Al 1,256,884
BSAIE THRIIH Z2 )| 6,300 6,300 0
307 212+01 A 6,300 6,300
11 AR SXAMEET 6,300 6,300
ONeglold MEH =208 XA 6,300
ZOHOIMEAIE HEERD|F L SFNIES NJA 2,000 2,000 0
e
307 gI2tol ™ 2,000 2,000
11 Al =SXAMEES 2,000 2,000
OXOOF MEAIE BXI & MExzI| X
= 2,000
SN2 ML X(EXZAL & dE¥Es Ne 1,200,000 1,030,000 170,000
WA
= 600,000
= 300,000
Al 300,000
307 QIZ2t01 A 1,200,000 1,030,000 170,000
= 600,000




AT HEIED
M 298 =a
el EFAlE 28XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 300,000
Al 300,000
11 AMEISXAEEES 1,200,000 1,030,000 170,000
SRuAA HRMEAXN(EZLAZ WA
X&) 1,200,000
= 600,000
< 300,000
Al 300,000
WAIZRSZIEH (S WA L WAIE AT X&) 595,360 962,600 A367,240
= 297,680
[ 148,840
Al 148,840
301 LELEN S 595,360 962,600 A367,240
= 297,680
== 148,840
Al 148,840
01 Al 2E A S(SRNEXMHE) 595,360 962,600 A367,240
OUAIRZSEZNEHI (S WAL XI&HI) 578,760
= 289,380
= 144,690
Al 144,690
OuAZHIE XA 16,600
= 8,300
= 4,150
Al 4,150
EFWAY MRHE N (SEESUA SE22+E) 58,908 80,000 A21,092
= 29,454
= 14,727
Al 14,727
301 LEetE2 N = 58,908 80,000 21,092
= 29,454
= 14,727
Al 14,727
01 Al EE A S (2 RDEXMR) 58,908 80,000 A21,002
OsEESUAN SE2R+Y A& 58,908
= 29,454
S 14,727
Al 14,727
Oelold M WAL X2 120,232 144,000 N23,768
= 60,116
& 30,058
Al 30,058
301 EtE NS 120,232 144,000 N23,768
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AT HEIED
M 298 =a
el EFAlE 28XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 60,116
=S 30,058
Al 30,058
01 Al E2E AL S(FRDEXH) 120,232 144,000 N23,768
OO&0lE AL XIS 120,232
= 60,116
= 30,058
Al 30,058
OEloly 2SXA(SHELM AtEISXIZIN 0 6,360 5,600 760
2ZHIXIH)
= 3,180
= 1,590
Al 1,590
307 @120l & 6,360 5,600 760
= 3,180
= 1,590
Al 1,590
11 AMEISXAIEEXS 6,360 5,600 760
Os0EYL oelold Xa 6,360
= 3,180
= 1,590
Al 1,590
OfRI0IE 2N (0oly XH&23H) 42,480 40,000 2,480
= 21,240
= 10,620
Al 10,620
307 elztol & 42,480 40,000 2,480
= 21,240
[ 10,620
Al 10,620
11 AMEISXAEEES 42,480 40,000 2,480
Oxtgr=2gdl N3 42,480
= 21,240
== 10,620
Al 10,620
Oeloly 2SXJ(02018 DHn+hl) 41,600 32,400 9,200
= 20,800
s 10,400
Al 10,400
307 21201 & 41,600 32,400 9,200
= 20,800
= 10,400
Al 10,400




AT HEIED
M 298 =a
el EFAlE 28XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 41,600 32,400 9,200
O uw-H| K& 41,600
= 20,800
< 10,400
Al 10,400
IR0t 222 XA(02M 288 S) 5,886,910 5,615,000 271,910
= 3,826,490
< 824,170
Al 1,236,250
301 2eEN= 5,886,910 5,615,000 271,910
= 3,826,490
=S 824,170
Al 1,236,250
01 Al EE AL S(FREXMH) 5,886,910 5,615,000 271,910
O0-2H =0t 2E5& 5,886,910
= 3,826,490
= 824,170
Al 1,236,250
IROIEZFE N (FelHd 252 ) 3,929,556 3,629,680 299,876
< 3,928,404
Al 1,182
301 2eEN= 3,929,556 3,629,680 299,876
< 3,928,404
Al 1,182
01 A2 HSHS(RNEERTHE) 3,929,556 3,629,680 299,876
O35Ml el td 2858 S 3,924,7%
= 3,924,756
OFs0ls gtz 2|2 4,800
== 3,648
Al 1,182
B S e S ONE YN g 311,360 1,857,400 1,246,040
= 202,380
& 54,490
Al 54,490
301 EtE NS 311,360 1,557,400 A1,246,040
= 202,380
< 54,490
Al 54,490
01 AR 2EHSHS(RNEXRTHE) 311,360 1,557,400 A1,246,040
OoJtged=s=g A& 311,360
= 202,380
s 54,490
Al 54,490
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AT HEIED
M 298 =a
el EFAlE 28XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ongold E&<00 K& 124,330
= 37,300
Al 87,030
0201y S2tAaldl X3 118,944 137,520 18,576
=S 35,683
Al 83,261
301 EtE NS 118,944 137,520 18,576
< 35,683
Al 83,261
01 AR 2EHSHS(RNEXRTHE) 118,944 137,520 18,576
OO0y S2tAbl X 118,944
& 35,683
Al 83,261
O1RI0IE 2SN (ZHOIHNEZ2H) 24,132 17,148 6,984
= 7,240
Al 16,892
301 EetE2 NS 24,132 17,148 6,984
s 7,240
Al 16,892
01 Al E2E A S(ERNEX) 24,132 17,148 6,984
OZMHOINZU20IE 283 14| 24,132
[ 7,240
Al 16,892
SBEN0IE KJ(HESAY) 416,500 420,000 23,500
= 312,375
Al 104,125
307 el2to| & 416,500 420,000 A3,500
= 312,375
Al 104,125
11 AMISXAIEEXE 416,500 420,000 23,500
O338 oelold X 416,500
== 312,375
Al 104,125
S3E0801d usatdiadl X 4,000 12,000 28,000
= 1,200
Al 2,800
307 elzto| & 4,000 12,000 28,000
= 1,200
Al 2,800
11 AMEISXAIEEXS 4,000 12,000 /8,000
O3380e01d usetdidel X2 4,000
= 1,200
Al 2,800




AT HEIED
M 298 =a
ol ESAE 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOl ==CldlE 28 A= 145,200 145,200
201 er23 | 145,200 145,200
01 At2teltl 145,200 145,200
oop|Zd=sFeldH 28 s
12,100,000& x 12& 145,200
Oy =s=elde 2 145,089 246,848 101,759
101 21AH| 24,629 17,148 7,481
04 JIZtN2Z2 XS 2+ 24,629 17,148 7,481
O2ge3a elad| 24,629
IS (EN4Y, SELL T
76,9602 »287 L 22,088
JIZEH2 2R AU EE s
22,088,000& *11.5% 2,541
201 fer= 3| 81,960 55,000 26,960
01 AtR2tc|HI 45,160 31,000 14,160
g =l 25,000
OO0 YAFFelde =208 Wi &
2 s 7 20,160
2Z =0 10,080
=EIE] 10,080
® 2=2H| 3,800 22,000 14,800
O=zZR3 3,800
ZZe3(XII93 S)
2,650,000& «12& 31,800
2= 5,000,000& 1= 5,000
301 EtE2 NS 36,000 14,700 21,300
4Bt 2a3 36,000 14,700 21,300
Ous & HEZ2 08 Az 36,000
405 KHaHE SH 2,500 160,000 157,500
01 Tt ESF=HI 2,500 160,000 A157,500
ot s F¢ 2,500
0i2l01d OAlIEt 24| X1 70,800 45,000 25,800
= 21,240
Al 49,560
307 elztol & 70,800 45,000 25,800
= 21,240
Al 49,560
1 AMISXAEEXS 70,800 45,000 25,800
OO el0l& OMIEH 2gdl XIa 70,800
=S 21,240
Al 49,560
020y 2eaddl X3 864,960 0 864,960
& 259,488
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A HAIED
M HES =X
o e o

&2l E=AIE 2EXA (SH &)

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

Al 605,472

301 22N = 864,960 0 864,960
259,488
Al 605,472

in

= ) 864,960 0 864,960
gHasdl N2 864,960

259,488
Al 605,472

O
0
P
(@]
=
i
=}
o oY
Jm

H

EIAME 3 2,000 30,000 /28,000
1,000
300
700

hoH

=

Q
m
S}
i
o
0
=
P

2,000 30,000 /28,000
1,000
300
700

Mo

=

402 SI2ERH201 ™ 2,000 30,000 28,000
1,000
300
700

Mo

=

02 RIENZASEZ (01 THR) 2,000 30,000 /28,000

g JIse22(&didl) 2,000

1,000
300
700

hoH

=

H0
02

419,793 881,075 N461,282
187,600
52,379
39,900
139,914

oW

=

FAHE OlsSSAHIA X 304,355 299,767 4,588
187,600
23,450
Al 93,305

hoH

Nl
2
x

gAMHIA X2 69,855 68,817 1,038

ro | o
Mo
=1

om

S
=

28,455 21,417 1,038

3
i
10
1A
0
N

28,455 27,417 1,038
28,455
1,335,250 2«3 x23] 8,012
140,000 x3&* 1200 2 5,040
1,976,920+3H 5,931
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A o&IED

i CEAHE 29
Ci9ll FIOOHE OIS EBMHIA X8 (ol m2)
SA - B BRA(SH) - HRA - of v e HIDE2
FERSIpYE
60,0002 x2Z *12JH 3 +50, 0003 » 1 +501 &
1,690
- el eS| 40,0008 «38 1200 2 1,440
- IOEESE 120,000& x 12+ 1200 2 1,440
] 50,000 x3&* 120 2 1,800
HILE AH| 103,370 *x3&* 10 3,102
201 Ler23| 1,400 1,400
01 At2teltl 1,400 1,400
OgsA=H| 350,000 <42 1,400
301 EtE NS 40,000 40,000 0
03 A2 H A =TS (XL THH) 40,000 0 40,000
OEHARE 2208 23 40,000
FHAANE OlsSSEAMHIA R (EX) 234,500 230,950 3,550
= 187,600
S 23,450
Al 23,450
101 e124d| 97,800 105,720 AT,920
= 78,240
= 9,780
Al 9,780
03 SR (RIH )22 U2+ 97,800 105,720 AT7,920
OOtSSEAtIZCIAL 2124H| 97,800
= 78,240
= 9,780
Al 9,780
201 er23| 21,820 27,320 5,500
= 17,456
= 2,182
Al 2,182
01 At22te|bl 16,820 16,820 0
OSHAEIERY A2t/ 14,120
= 11,29
== 1,412
Al 1,412
OLEAERE X2+ 28 1,800
= 1,440
== 180
Al 180
OEEARE R01HH 89
225,000 x4=2 7| 900
= 720
& 0

_41_




2A: HAIE
B CEYARE 29
Tl FOUHS OFSSEAHIA X2 (SHol: )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 0
2 S=29| 5,000 5,000 0
OLEAEE 8523 H| 5,000
= 4,000
& 500
Al 500
202 0441 12,720 3,000 9,720
= 10,176
& 1,272
Al 1,272
01 =LHOdH] 12,720 3,000 9,720
OCEAEE MESuE S W0
500,000 *63| 3,000
= 2,400
& 300
Al 300
OOtSSEArZIZ2IAI T & EH0H|
270,000& x3H 123 9,720
= 7,776
& 972
Al 972
301 LB F 102,160 4,910 7,250
= 81,728
& 10,216
Al 10,216
01 AISIBE X 2GS (2 RETME) 102,160 80,960 21,200
OZ=z =Y 102,160
= 81,728
& 10,216
Al 10,216
CEtl=sdEH 28X# 115,438 162,176 246,738
= 52,379
& 16,450
Al 46,609
CletNEsdle 224l X2 7,000 7,000 0
201 B2 AY| 1,000 1,000
01 At22teld| 1,000 1,000
OUEH=sSAMY XNG=sS82AM 29 1,000
307 212+01™ 6,000 6,000
05 IZteEe g 6,000 6,000
Ot NssHH 2% X#A 6,000
CHatH SS8AMg(Ex) 12,000 4,800 7,200
ax 6,000
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SN OIEIIED
M CYAEE 2%
el OE=Esdy 23XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,800
Al 4,200
307 lztol & 12,000 4,800 7,200
= 6,000
== 1,800
Al 4,200
05 2ItRIE = 12,000 4,800 7,200
Otighss4dH 244l X 12,000
= 6,000
=S 1,800
Al 4,200
CIEN SS4IH 2124l XIA(ExX) 71,484 71,696 N212
= 35,742
=S 10,723
Al 25,019
307 @I2to| & 71,484 71,696 N212
[ 35,742
= 10,723
Al 25,019
05 212t =S 71,484 71,696 A212
OUEgNssaH bl K& 71,484
[ 35,742
= 10,723
Al 25,019
CIEtl SSdE SAHA =& 3,680 3,680 0
=S 736
Al 2,944
307 @12t01 & 3,680 3,680 0
== 736
Al 2,944
05 2ItRIE = 3,680 3,680 0
OUEM SSHE SAL =& 3,680
S 736
Al 2,944
CrENS=SdE 2EAI2t 2 XA 21,274 0 21,274
= 10,637
< 3,191
Al 7,446
307 glztol & 21,274 0 21,274
= 10,637
== 3,191
Al 7,446
05 2ItRIE = 21,274 0 21,274
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